
MA 214—04 Power Series the front 
 

1. Given the differential equation 2 0y xy y′′ ′− + = , assume the solution can be written in the 
form of the series, and find the recurrence relation for the coefficients. Then find the first 
three non-zero terms of two independent solutions ( 1y  and 2y ). 

 

  



MA 214—04 Power Series the back 
 

2. Find the radius of convergence of 
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series will converge absolutely. (Do not worry about the endpoints of the interval.) 
 

 

 

 

 

 

 

 

 

 

 

 

 
 

 
 

 


